The formulas required for solution are as follows:

For stoichiometric and lean mixtures;
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For rich mixtures;
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Ex 1. C;HsOS formulated 1 kg fuel is combusted with 1.3 air excess ratio. Calculate the
combustion products in terms of kg units.
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Ex 2. C4H1o formulated 1 kg fuel is combusted with 0.85 air excess ratio. Calculate the
combustion products in terms of kmole units.
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Ex 3. C;:HsOH formulated 1 kg fuel is combusted with 0.85 air excess ratio.Calculate
the combustion products in terms of kmole units.
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Ex 4. 85% C3Hs and 15% CH4 mass fractionally blended fuel is combusted with
critical air excess ratio.Calculate the combustion products in terms of kg units.
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